
In[ ]:= eqnsdamponres = u'[t] ⩵ 0 - γ * u[t], v'[t] ⩵ Ωr * w[t] - γ * v[t],

w'[t] ⩵ -Ωr * v[t] - γ * 2 * w[t] + 1, w[0] ⩵ -1, v[0] ⩵ 0, u[0] ⩵ 0

Out[ ]= u′[t] ⩵ -γ u[t], v′[t] ⩵ -γ v[t] + Ωr w[t],

w′[t] ⩵ -Ωr v[t] - 2 γ 1 + w[t], w[0] ⩵ -1, v[0] ⩵ 0, u[0] ⩵ 0

In[ ]:= sol = DSolve[eqnsdamponres, {u, v, w}, t];

In[ ]:= pp = FullSimplify1 + FullSimplify[w[t] /. sol /. {Ωr → 1, γ → 1}]  2

Out[ ]= 
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In[ ]:= Plot[pp, {t, 0, 25}, PlotRange → All, AxesLabel → {"t", "ρbb"}]

Out[ ]=
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